" Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41471 ELEMENT SERIES\C - Drawings\FL-41471 (2020)\FL-41471.1.dwg

STEVES AND SONS

203 Humble Ave.
San Antonio, TX 78225 A 4
— x —
STEVES ’
DXD DXD DXD DXD
1/2 LITE
FAN LITE CAMBER TOP 1/4 LITE 1/2 LITE w/ MICROBLINDS 3/4 OVAL
INSWING/OUTSWING 68.5' MAX.
OVERALL FRAME
"NON-IMPACT" WIDTH
i |
|
L T =
0) ) °
GENERAL NOTES S % ] e
= <
1. This product has been evaluated and is in compliance with the 7th Edition (2020) Florida Building S Z o % | |
Code (FBC) structural requirements excluding the "High Velocity Hurricane Zone" (HVHZ). % T:_E’ é‘ ‘S‘
®
=0 =5
2. Product anchors shall be as listed and spaced as shown on details. Anchor embedment to base in T o % X »
material shall be beyond wall dressing or stucco. s g é /'! 7 7
<
oZ < —
3. When used in areas requiring wind borne debris protection this product is required to be protected - e Jilo 5
with an impact resistant covering that complies with FBC Sections 1609.1.2 & R301.2.1.2 of the FBC. ‘ ‘ x| |°
4. For 2x stud framing construction, anchoring of these units shall be the same as that shown for 2x = e :
buck masonry construction.
CONTINUOUS HEAD & SILL
5. Site conditions that deviate from the details of this drawing require further engineering analysis by
a licensed engineer or registered architect.
TABLE OF CONTENTS MAX. DESIGN PRESSURE (PSF) | DESIGN PRESSURE (PSF)
SHEET # | DESCRIPTION SHEET # CONFIGURATION | FRAME Ll ] DUISWING
1 Typical Elevations, Design Pressures & General Notes 8 | Honzontal & Vertical Cross Secfions (1X Buck) DIMENSION | POSITIVE | NEGATIVE | POSITIVE | NEGATIVE
2 Door Panel Details 9 Horizontal & Vertical Cross Sections (Direct to Masonry) " N
3 Sidelite Panel Details 10 Vertical Cross Sections X 37.5"x 81.5 +50.0 -50.0 +50.0 -50.0
4 Panel Options 11 Buck Anchoring " "
5 Elevations 12 Frame Anchoring & Hardware Details X0, OX, 0XO 68.5" x 81.5 +50.0 -50.0 +50.0 -50.0
6 Horizontal Cross Sections 13 Door Lite Frame & Glazing Details
7 Horizontal & Vertical Cross Sections (2X Buck) 14 Bill of Materials & Components

May 25, 2022

N
02}
m)
.M
oM
z
£ i
oM
N v -
Z828
4 <Ed
,® = = .
4 Do
2>z
D\ 26%
‘. OF)w-H
b ON - 0
o, o o
o O Xz o
? zZ 0 ¢
§ Eo gl
R
fom 2%cm
¢ mDoDLw
s
o
o C
E 6% L/E
3 U .,
g su
a 2

STEVES & SONS
FIBERGLASS DOOR

PART OR ASSEMBLY:
TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PRODUCT:

BY

REVISIONS

NOJ DATE

DATE: 4/26/22

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL—41471.1

SHEET _1 oF 14

© 2022 R.W. BUILDING CONSULTANTS INC.



Z\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41471 ELEMENT SERIES\C - Drawings\FL-41471 (2020)\FL-41471.1.dwg

0.75"

- 1.74" —=]

B D S SC)

INTERIOR

0.75"

3.25"

e

/"1 \ HORIZONTAL CROSS SECTION

HINGE STILE
(LVL)
\2/
__ 35.75" MAX. DOOR
WIDTH
21" MAX. D.LO.
WIDTH

Frmmy p——

S

i
Q
~r

PI—><'E

o 38 i

T BT i

z BO

O ¢4 {L

o X3 @

. o)

>

<€

= X

%

N~

@ STEEL DOOR PANEL

STEEL DOOR SKIN: MIN. 0.020" THK.
CORE MATERIAL: POLYSTYRENE FOAM

SEE HARDWARE
TABLE

7
/

WOOD LOCK BLOCK

(12 LONG)

SEE SHEET 13 FOR ADDITIONAL DOOR
LITE FRAMES & GLAZING OPTIONS:

GG21e3Y)

LATCH: SIGNATURE SERIES
KWIKSET DEADBOLT:  SIGNATURE SERIES (980)
LATCH: F51
SCHLAGE DEADBOLT:  B&6ON
LATCH: PREMIUM HANDLESET
ROCKWELL DEADBOLT:  PREMIUM DEADBOLT

LOCK STILE
(LVL)

TOP RAL—
(LVL)
o
POLYSTYRENE
FOAM CORE
INTERIOR #— EXTERIOR
\&r._...
STEEL DOOR
SKIN
BOTIOMRAL |-
(WOOD) R
.—./
=g
| 174" ——

/ 2\ VERTICAL CROSS SECTION

\2/

May 25, 2022

P.O. Box 230, Valrico, FL 33585

BUILDING CONSULTANTS, INC.
Phone No.:

lyndon F. Schmidt
P.E. No. 43409

Ry

813.659.9197

FBPE Registry No. 9813

STEVES & SONS
STEEL DOOR
PART OR ASSEMBLY:

PRODUCT:

DOOR
PANEL DETAILS

BY

NOJ DATE

REVISIONS

DATE: 4/26/22

SCAE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL—41471.1

SHEET _2 oF 14

© 2022 R.W. BUILDING CONSULTANTS INC.



AV 7
W /s
\\\ LTI 0’/
\\ « -"' . /0/,/ n
0.75" N R
EXTERIOR ISy 3 AERE
=X g &84 .22
5 ¢ z o = FQSE son
N ALY SO ZEg°
= i — s S pBS E5E,
o TOP RAIL — 7 RS A 5 M- R e
\ INTERIOR o LT 1 SR .3
STILE S 25  9x28
vy 28 g=e
Sfg 52 2 5w
=% Boak
”\ Qlg v
/"1 "\ HORIZONTAL CROSS SECTION zlE 52 §
5 o o
FOAM CORE—
175 AR, PANEL HOT MELTBUTYL _,_ 3/8"
GLASS BITE 0% "
6" MAX. D.LO. EXTERIOR —— 1" OVERALL GLASS THK. 32| ws
WIDTH S0 |x S
S __—1/8' TEMPERED GLASS o2 |38 B
Lit | DECORATIVE INSERT U & 72
I = ~uW an
ek = AIR SPACE 4 o 02 |2
o " 1/8 TEMPERED GLASS EXTERIOR \ INTERIOR 2 ©
INTERIOR 2 %
INTERSE LE
#8X 1-3/8" PH SMS SWIGGLE SPACER = =
(T6 TOTAL) . GLAZING DETAIL &
= TKI PRODUCTS LITE FRAME
Q o
Tt a
[¥7] P et
z x I
< %O ‘
o =i STEEL DOOR 0
% I KN ~_| S
g &
L - Lt
- -
BOTIOM a
RAIL S
(WOOD) 2
DATE: 4/26/22
1.74" scaE N.T.S.
@ FIBERGLASS SIDELITE PANEL oWe. B RW
' . CHK. BY: LFS
/ 2"\ VERTICAL CROSS SECTION e
FIBERGLASS SKIN: 0.07" MIN. THK. 3/ FL-41471.1
FOAM CORE: POLYURETHANE - 1.9 PCF MIN.) e 3 o 14

Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41471 ELEMENT SERIES\C - Drawings\FL-41471 (2020)\FL-41471.1.dwg

© 2022 R.W. BUILDING CONSULTANTS INC.



TONG SANVLATINSENDD aNIgTINg

MM 2202 O

T186 ON Ansibey 3dad SNOISIAZY
LBL6'6S9°CLE FON 8uoyd F -
ssses 13 “emion ‘occ o8 04 [l SNOLLAO FINVd ¥000 VD oM S i1zl = |
_o_d__ _vmkzs,._:mzoo oNIaTINg @ KTBNISSY 90 18vd WW IR
B WNo, sover ON ‘2 4004 SSV19¥3al4 A lslgle ) N
/q.vcoiof.va 7%, WPIUSS "4 uopum SNOS % S3AILS i m sleET|h
> “o VN7 :Ag peupdesd sjuswnoog :10Naoxd HEIHEE o
3 1%z TT0T ‘ST AN
3¥i ¥ TxE
t . eompoN i =
“\ onoo g 9 o II,
-~ o-ac uooﬁu N
\\\\&Q\-:.@-Wom\uw ///
%1 WHOS 2 WV
Ny nany
e o |
N A <
3
n
o]
P
w4
=
- O
N &
=0
=
e - — ~
2
L
=
< -
e
B Q 2 w
— — (T8
~ . =
~ C o |
- Q
_— ocwer | Th] o
O = 4
wd
C  sssssnssisinsssnrossan 4 m
dussssnssisaiasosan. w
-.N' 1T
_m E L L m
= M =]
< (1T LU L
_ | >~ | =
~N
e - e =
—
o.
o
11 | =
T}
=
/I
O
A1 | &
i oo |
J1 | 1 <

Bmp'L L Ly Ly-14\0202) LpLy-TH\sBumelq - D\SIRIIS ININGTI LLYLy-Td\s|eroiddy 1onpoid epLOd - Y\USUBWIRd - SUOS pue SaARIS\SIUBID\Z



TONL SANVYLINSNDOD SINIOTNE "M 2202 @

T186 ‘ON Ansibey 3dad SNOISIAZY
LBLE'BSYCLY ON ®uoyg A8 41vd [ON - i
S6SEE T4 ‘O9UIDA ‘0§z Xod "O'd § SNOUYAI13 Jy|zle| = 1_
ov_z_ ..mpz,&,._:mzoo oNIgTINg Mm KIEN3SsY 90 Lavd P e IR R
ff——— ~ss\\ ~| 2 m —

SN2 WNoj, covey ‘oN “3'd 4004 SSY19438l4 3 lglzle T ]
ll/@ ....n.v.&.n.v ..... & “ PIWYDS 4 UOpULA] SNOS % S3AILS eI m

S iliciy . R 2 . JHEAR:
S :L0Naodd 81813151|5 &

ELEVATION
OXO

5
\7
4
~
7 2\
N&/
J
(2 a4
10 A 10

1Y 3
10 10
ELEVATION
XO /0OX

ELEVATION
OX/XO
(CENTER HINGED)

FOVWI GIJOJAIW

ELEVATION
X

Bmp L L2y Lp-14\0202) LLpLy-Td\sBumes - D\S31Y3S INIWITI LLpLp-Td\sierosddy 1onpoid epliojd - Y\iuaueuliad - suos pue s3ABIS\SIURANIDNZ



CON SLINYLOINSNDOTD aMniaing

MY 2202

A
=
O
z

€186 ‘ON Auisibay IFddd

SEENOITE 1

o [ e

3

P
8
£
g
o
%
o
(723
8
=
©
5
£
°
o
2
o
3
Re]
2
]
<

§
&=
o~
SO
® a
o —
g~
0T <
880
@ - O
s3I
0§53
L .20
=350
me
Eo 0D
g5 9
Wy

6§20
o 05
Q0

= L =
e
B 0=
- o

SEENOTE 1

“////////f///‘//////////!!«“

it””

INTERIOR

A\

EXTERIOR

1/

7

N

11

(TYP.)

A\

m HORIZONTAL CROSS SECTION
w Outswing shown {inswing similar)

/1 "\ HORIZONTAL CROSS SECTION
W Outswing shown (Inswing similar)

SNOISIATY
L616°6S9°CL8 ON Buoud SNOLLO3S  SSOHO | 31vd_JON]| o -+
S6SEE T4 ‘O9UIPA ‘0SZ XO8 "O'd \§ TVANOZIHOH NGRS N
"ONI ‘SLNVLINSNOD ONIGTINg g KTANISSY 80 Lavd SIEIEFL S8
a/:::::s\ ﬂ P-4 S 3 6_
ny J(ZO\ ‘s, 60¥SH ‘ON ‘Id H00a SSV1943dld <+ [ElEle !
) S aioT S5, piges -4 opusy SNOS % S3AILS EIRE ST g
S . D\,Am peipdesd_suswinsog :10NQ0¥d HAEIHEEIRE:
I9; L% 720T ‘ST AN
Ixi ¥ =
£ % eoveyoN ¢ I
“ .. I.- ,,,
AR S
\\ & -o ooo} /.’
\ Soppes "y N\
%, \Q\SIOm 3 /z//

BMp'L L Ly Ly-14\0202) LLpLy-TH\sBuImMBIQ - D\SFI¥IS LINFWNTTT LLFLY-T4\s|erosddy 1onpoid epliojd - Y\lusuewlsd - SUOS pue SBABIS\SIUBIDNZ



- n \\\‘. 7
. (VP Xy,
/ Ss.:. » .'-%2 Q
. a 0 LT pe :Ig’é' g £ I Tl
< = ZOill ¢ X igzZ o
: 0.15" C-SINK b EARACE: LGOIl 555
(rvP) S %5 SRR
K [N G // ... \\ 100 o
33 _ @ IS 7 Stenens D \\\ 2> M Z
‘/@ L s ¢ - e vy A i - \ ,I, ‘k \\\\ %o’fﬁb
| | o N LA 3R
INTERIOR \ - L ST - N v B 0 52 8
——— LI o B L T e ’VD_ v 2 v . ) - ~ g 'ém % m g e
o a . o . ‘ Vh ‘, D-} ) : > LN Cv 8 ?ég §d§§
A > E :. e "% @odan
LT T SEE NOTE 3 N
” P ]
I = Bl RO AN T
- b33 s
< g —i o a0
| e ~ ~ l " s 8 ““NZ‘“ C > TE <
1 ; | ’ ! i N E . &,%
4 . s i’i A ‘ e (’:303
. CoE . ¢ Ir:‘:, [ d
AL @R & ® | B
\\/\ @ no
v B9
EXTERIOR \/\ S0 |3 8=z
1-1/4" MIN — X 2 |3 S
1AMIN. | . x o2 |3 28
EMB. TYP.) @ 2 £ =2 |5 g§
= g P X7}
/"1 "\ HORIZONTAL CROSS SECTION /"2 HORIZONTAL CROSS SECTION EXTERIOR INTERIOR o = O |3 Bo
7 Shownwi X BUCE g simion 7_J Shown wf 2X Buc5 g simion \ S g S| BS
utswiIng shown {nswing similar, urswing snown {inswing similar b
(4 VERTICAL CROSS SECTION g |y °
7 /Shownw/2XBuck
Outswing shown {Inswing similar) >
L N
. ” | v “” - . I3 V : » L ’ v N B ] \
a 3 ) e oy . 4 &
@\\ .b.’.‘i‘» ) - v N v \7~‘,> . e e 78 172]
o s : : b v v - R . : . =
~ S S — ST o
= T (D B S A e e %]
SEE NOTE 1 Sy e Q.
INTERIOR N . B @ 7z
=, -y
Yo
MY wv\@ -~ =
5 a4l ) ~— L
p BN O -
’x L < °
N L 3
| | -
EXTERIOR ]( s DATE: 4/26/22
NOTES: SEE NOTE 2 IS Sus  N.T.S.
1. Sidelite assembly screws located 4" from each mp) o Vi EXTERIOR INTERIOR DWG. BY:  RW
end plus 4 more equally spaced along jamb ({6 total). ’ 1-1/4" MIN. \ ok B LFS
i " : EMB. (TYP.
2 Mouiing securec Wi 16 SA.X I brad nak /"3 \ HORIZONTAL CROSS SECTION (TP) /"5 VERTICAL CROSS SECTION .o
; S " Shown w/ 2X Buck Shown w/ 2X Buck - .
3. Anchor @ head is not required for single door (X) only. 7 Outswing shown (Inswing similar) 7 Outswing shown (Inswing similar) e 7 o 14

Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41471 ELEMENT SERIES\C - Drawings\FL-41471 (2020\FL-41471.1.dwg

© 2022 R.W. BUILDING CONSULTANTS INC.



SREARERRRANNNY

e |||

i

1-1/4" MIN.
EMB. (TYP.)

m HORIZONTAL CROSS SECTION

[ <
AR ! r XX

- . @ % EXTERIOR
N B
(40)

8 / Shownw/ 1XBuck

Qutswing shown {Inswing similar)

NOTES:
1. Sidelite assembly screws located 4" from each
end plus 4 more equally spaced along jomb {6 fotal).
2. Moulding secured w/ 16 GA. X 1" brad nails
located 1" from ends & 6" o.c. max.
3. Anchor @ head is not required for single door (X} only.

v ¢
Vq’ »
//_'////////«-
.
]
1-1/4" MIN.
EMB. {TYP.)
/"2 "\ HORIZONTAL CROSS SECTION
Shown w/ 1X Buck
Outswing shown (Inswing similar)
_—
T
SEE NOTE 1 v

|
“ .

N |

1

EXTERIOR . o

A\

@ SEE NOTE 2 /\/

(TYP.)

1-1/4" MIN.
EMB. (TYP.)

7”3\ HORIZONTAL CROSS SECTION

8 /Shownw/1XBuck
Outswing shown (Inswing similar)

SEENOTE 3

<
7
i
AN
'd

v
v
AN

<
5

)

v
Cw

A\

/“ 4\ VERTICAL CROSS SECTION

8 / Shownw/ 1XBuck o
Outswing shown {Inswing similar)

INTERIOR

May 25, 2022
Documents Prepared By:

Lyndon F. Schmidt
P.E. No. 43409

Ry

A5\
w
FlL 33595

PN

7,

/,,

BUILDING CONSULTANTS, INC.
813.659.9197

P.0. Box 230, Valirico,
FBPE Registry No. 9813

Phone No.:

STEVES & SONS
FIBERGLASS DOCR
PART OR ASSEMBLY:
HORIZONTAL & VERTICAL
CROSS SECTIONS (1X BUCK)

PRODUCT:

g

BY

IS RSN
S .
A
Y
EXTERIOR

1-1/4" MIN.
EMSB. (TYP.)

!

INTERIOR

/"5 "\ VERTICAL CROSS SECTION

REVISIONS

NOJ/ DATE

8 / Shownw/ 1XBuck

Outswing shown {Inswing similar)

DATE: 4/26/22

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL—41471.1

SHEET 8 oF 14

Z:A\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41477 ELEMENT SERIES\C - Drawings\FL-41471 (2020)\FL-41471.1.dwg

© 2022 R.W. BUILDING CONSULTANTS INC.



1-1/4" MIN,
~ ' EMB. (TYP.)

m HORIZONTAL CROSS SECTION

9 / Shown Direct fo Masonry
Outswing shown {Inswing similar)

NOTES:
1. Sidelite assembily screws located 4" from each
end plus 4 more equally spaced along jamb (6 total).
2. Moulding secured w/ 16 GA. X 1" brad nails
located 1" from ends & 4" 0.c. mox.
3. Anchor @ head is not required for single door (X} only.

INTERIOR

EXTERIOR

1-1/4" MIN.,

EMB. (TYP.)
/"2 HORIZONTAL CROSS SECTION

Shown Direct to Masonry
Outswing shown (Inswing similar)

SEE NOTE 1
INTERIOR
N
|
EXTERIOR
SEE NOTE 2
(TYP.)
1-1/4" MIN.
EMB. (TYP.)

> .
S
&

e

SEENOTE 3 Za
2E
N
T3
A\
EXTEROR x/ INTERIOR
A\Y
/4 )\ VERTICAL CROSS SECTION
W Shown Direct fo Masonry
Outswing shown {Inswing similar)
z
=
b x
e\
 > Y - Y Bow :
IS N )

May 25, 2022
Documents Prepared By: <\

»
»
e ®

fLoroh
NAL

INC.

O

7, ..'v
,”13'91
\
hns
BUILDING CONSULTANTS,
813.659.9197

-~
P.O. Box 230, Valrico, FL 33595

P.E. No. 43409
Phone No.:

Ry

Lyndon F. Schmidt

VERTICAL CROSS

STEVES & SONS
FIBERGLASS DOOR

PART OR ASSEMBLY:

PRODUCT:
HORIZONTA

&
BY | SECTIONS (LDIRECT TO MASONRY)

EMB. (TYP.)

EXTERIOR

A\

INTERIOR

/"5 "\ VERTICAL CROSS SECTION

9

7“3\ HORIZONTAL CROSS SECTION

9 /Shown Direct to Masonry
Outswing shown (Inswing similar)

Shown Direct to Masonry

Outswing shown {Inswing similar)

NOJ DATE

DATE: 4/26/22

SCALE:  N,T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL-41471.1

SHEET _9 oF 14

Z:A\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41471 ELEMENT SERIES\C - Drawings\FL-41471 (2020)\FL-41471.1.dwg

FBPE Registry No. 9813

REVISIONS

© 2022 R.W. BUILDING CONSULTANTS ING.



TONE SANVLINSNDOG aNIaing My 2202 @

€186 ‘OoN Aisibey IAdHd SNOILD3S SNOISIATY
LBLE°6G9°CLY "ON suoyd A8 3ivd [ON - |+
cesee s aamn ocy XoE O \§ SSO¥D TYOLLYIA N lzle N 1_
“ONI ‘SINVLINSNOD ONIGHNG Kv KIENaSeY d0 19vd Pt Rl e B
,c:xch::\ Nk ER 9
\ 01247, S Y000 SSV1943g1d S glgle ™
////N»udmmawm.ﬁ. \QQ \\\\\ - cmmwwﬁ.._ ow_o_om %.. SNOS % S3IAILS i m w & m il
II&... .... \Jﬂ\uhm paiddeld sjuswNDOq 10NQ0¥Ud S8 W W w %
= 20T ‘ST Ao
“\\ .'I .. I’I’
%, lgiamtaA &
“u, Wiins .Wz////
T
-
} o)
2 3]
S 7./,_ W. o
& N 2
\ Qg
==z
= N >R
) b B mw
N ] Lt
O &
W i
& g ®
al & (dAL) 'gW3 -
o Qio NIW ./ 1-L
(@] ac &
Y (8§70
: 3
= J|g
El2
Se
Z
~ e
S
Q =
& o
v =
] Q
S
("dAL) "aw3 __| -
NI /1L & Olo
E ol
>< -] D
i <C =
Uli'o
S
SN
z
™2
: o
— o
i - &
5 O mg
-z b
TR
& A
o 2 -
Z 2 =z Q= ﬂ.xvmﬁ -
m E C ..mu n
Py s
o] Ul'o
o} -l
s e
e _ >|E
‘B »
5 -2
e}
o
=
g S
= &
: 1@
= (dAL) "gwa _|
® NIW #/1-1
[o]
Koy
e
[V)
-
Zi—

BMP L LLYLY-14\0202) LLyLy-TH\sBumelq - D\S31¥3S ININTTI LLrLp-Td\s|erosddy 1onpoid epliojd - y\juauewisd - suos pue $aAR1IS\SIUSID\:Z



*ONT SANVLINSNOD aNIaing

‘MY g2z0z )

£186 ‘ON Ansibsy Idgd SNOISIATY
L6LB'6G9'CLE 'ON suoyd F -
S6SEE 714 ‘OOIDA ‘0£Z Xo8 ‘O'd § ONIHOHONY X0ond A8 vd_{ON} oy GlIx|e] = M_
“ONI ‘SINVLTNSNOD ONIaTNg \&v XIANISSY 90 1uvd PRI E
wnhitig,, N gy |~
//,,Vw Jw.zo\@ %.\\ 8OVCy ‘ON ‘3°d 4000 SSY19¥3814 <+ |Elgle LT
/I/Q...&.Dgﬂu... &‘\\\ IPIWIYDSS 4 uopukT SNOS % S3nJLS i M slelET | B
II&... %, \J\anm peinde.d sjusWNDOQ -10NaoXd S8 W 5 W %
; 7207 ‘ST Ao
3%3
- 60VEY 'ON
\“\ ofo .o- .l’
\\\\ &w..-&wo.oc.\"o%”) /Io%
\\\\\\ szom /////
LTI
(4l (dAL) "XVYW
) 7 dAl "0'0.91
_ :w
< A
+ o t f t 1 1
= -
a
g :_ Q
e E <& <
Ex o~ o
v =
28N & el
A * c « > ..
Co » T = e
e | | ] | ]
B mtmw ww m R
.-. - v. 4-. K i v.. v .¢.. - ..v
Al (dAL) "X¥W
—] _Ali &% "D'0.91
p-” 11
- | . O
£ | t f f f f <
2 W wl oc
: 1 r o
ST x 5
rTIE S O
<
Lol =
™M 2 = @) S
o < — . X
™ C
ow o W A
- Q= " =
| o 4 i “
0 [ | | _ Bl ~N
» e ¢.m R <.....¢.¢ . . m.-.....- ... N u..« 4...-
. :41 . -. ..44 P 3 vq.v .4... Y -vx
“E
(dAL) "XVW
- H.Ti (dAL) 0091
t 1 t
2 &
a*= '
! 1 -
e o
I ] L) ..z/m
T4 s
3 LY AL o)
[ 7]
<
=

BMp’L'L Ly Ly-14\0202) LLpLp-Td\sBumeld - D\SIIIS LNINIT3 LLyLp-Td\sieroiddy 3onpold epuojd - Y\usUBWRd - SUOS pue SaARIS\SIUBID\Z



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41471 ELEMENT SERIES\C - Drawings\FL-41471 (2020\FL-41471.1.dwg

FRAME CORNERS ATTACHED w/ (3} 7/16"
CROWN X 1-1/2" LONG 16 GA. STAPLES & (2)

9.38" FROM
TOP OF JAMB ‘

DIRECTTO
MASONRY

1XBUCK
2X BUCK

DIRECTTO
MASONRY

IXBUCK
2X BUCK

7
3.5" X 4" 20 GA. STEEL PLATE ATTACHED TO : 'v/él’/
N . .. ” )
BACK OF LOCK JAMB w/ (4) 1" CROWN X ,f&g 3
5/8" LONG 16 GA. STAPLES ‘o_'. —1: B Fr‘))
& <=Z
i&x . Lomn
= =5 EOSP 655
'O 2800
| SEEHINGE OS Hs8 g
EE  oeral o S 3352
O X\
(TYP.) = \ 5202
Z= 5 oON:@
8 & o 3 o x2 9
b w g o = @ © &
h 5O N R
I Sle 09 ZLED
= ~ Qle u
> 5 c g
% e 6%
=13 2,
i 1* 8 3o K
wn
%) o=
X SEE LATCH & %% =
B DEADBOLT STRIKE 7S Ste
DETAIL I Bt
L= = (TYP.) oF |8 <5
Bss o Wo
g |3 22
[75]
HINGE JAMB/MULLION STRIKE JAMB/MULLION & : L:..z
3 (@]
\ 2 e
T @ E
| _—
2X BUCK
1X BUCK @ NN
DIRECTTO o)
MASONRY \
\y 9
ROCKWELL HARDWARE S
DIRECT TO Q‘
MASONRY 20
1X BUCK e \
2X BUCK @ — 13 @<
T
BACK PLATE L
\ <
l\ O
2x BUCK (2 : 2ABUCK (25) | .
1X BUCK \ hauck (6) ‘ DATE: 4,/26/22
DIRECTTO ‘ DIRECTTO \ SAE N.T.S.
MASONRY MASONRY F—— RW
KWIKSET HARDWARE SCHLAGE HARDWARE o IFS
DRAWING ‘NO.:
HARDWARE DETAILS FL—41471.1

#7 X 2" DRYWALL SCREWS @ HEAD & SILL {TYP.) MULLION _
6" 6" (TYP.) . 4 (TYP.) 50 %
- 4" (TYP.) =
(mvp) ] | ﬁ |
LITT_
&
(L)2xBuck = 2X BUCK _
o 1X BUCK G 1X BUCK
DIRECTTO DIRECT TO
"_ MASONRY — || — — MASONRY — —
JAMBS HEAD & JAMBS
(TYP) (vP)
_ GE
. O
I | <& _ I 8&
g 5 * 2
FRAME =3 DOOR SILL =
(TYP.) ™ (TYP.)
LIUI N
X XO, OX (D )outswinG
MULLION _ o INSWING
INTEGRAL MULLION ATTACHED TO 4" (TY P.) o o
HEAD & SILL w/ (3) #10X 3"FH £ (TYP) = SIDELITE SILL
COMPOSITE DECK SCREWS (TYP.) "[ (TYP.)
I 1] LT[ _ 7%
- 2x BUCK —_ o T o\
e Hea
G 1X BUCK . Hle \@
— DIRECTTO i
MASONRY L\
- HEAD & JAMBS
(TYP.) HINGE DETAIL
- N T INSWING
OUTSWING o GE
— I o=
INSWING o 2% \
SIDELITE SILL =50RSILL - =
(TP \ _ (TYp) L Sl
l LTl o Hl* sl
RS0
OXO0
A\
FRAME ANCHORING HINGE DETAIL
OUTSWING

sHEET 12 ofF 14

© 2022 R.W. BUILDING CONSULTANTS INC,



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41471 ELEMENT SERIES\C - Drawings\FL-41471 (2020)\FL-41471.1.dwg

. . 172
% HOT MELT BUTYL GLASS BITE
&
T 2I"MAX.DLO. _
3 9 WIDTH EXTERIOR — 1/2" O.A. GLASS THK.
- 0
H " 3 E } : 1/8" TEMPERED GLASS
@ “ ” [\ AIR SPACE
1/8' TEMPERED GLASS
INTERIOR
1/ LITE — ALUM SPACER
W/ FALSE MUNTINS #8 X 1-1/2" PH SMS (H-LO THREAD)
(10 TOTAL)
@ GLAZING DETAIL
ODL CRAFISMAN LITE FRAME
HP POLYPROPYLENE
20.75" MAX.D.LO. | : 20.75" MAX.D.LO. i
WIDTH WIDTH
o o
d | E‘ |
%8 58
ST g
1/2 LITE w/ MICROBLINDS
HOT MELT BUTYL e
HOT MELT BUTYL " GLASS BITE
96
GLASS BITE 1" O.A. GLASS THK.
EXTERIOR 1"O.A. GLASS THK. EXTERIOR
R r/ USTEMPEREDGLASS [ . - | |/OTEMPERED GLASS
R T BLIND INSERT
SN £~ AIR SPACE K5 b F
» AT W\ [ | ™1/8" TEMPERED GLASS At N\ T ‘sAIR SPACE
NTERIOR NTERIOR 1/8" TEMPERED GLASS

STEEL INTERCEPT SPACER
ALUMINUM SPACER

w/ DESICCANT

#8 X 1-1/2" PPH SM$
(H-LO THREAD])
(14 TOTAL)

(:) GLAZING DETAIL
ODL LITE FRAME

EVOLVE [CLEAR)

#8 X 1-1/2" PPH SMS
(HI-LO THREAD)
(14TOTAL)

GLAZING DETAIL
() ODL LITE FRAME

EVOLVE (w/ BLINDS)

K\ 2
" \\\\ 4,”/,
142" — 1.56" - 1.42" N L
0 S %z 3
- _ —_ o - ;.’ &Y - 10
¢ I T | zxig PECH
o B | i :8‘-% ESzcs,
= . ~ z N = &; 95 g S oo
N ™~ — AR\ LY 20
| + 7 4] 1 283 oS EL8
X “, 0 \\\\ 7 >mz
‘v, w ZJdo
iy 5 3R .3
TKI PRODUCTS LITE FRAME  ODL LITE FRAME (EVOLVE]  ODL LITE FRAME (CRAFTSMAN] 2% o328
qle Eg §%e,
QIE 8 35088
P ER Doow
m ] E R
gz
sis 5.
VN
a Jo
<
28| Wl
o3 §<
, ‘ 13'"MAX.DLO. ® ol Bl
o! o WIDTH 321 wo
a a = — %% = 9§
=T =5 s e 8%
= & 2 o
© S s S iz
e y 32 & =
@ @ 50
‘ 39 &
L 20.8" MAX. J T 208 MAX a
D.LO. - DLO.
WIDTH WIDTH
CAMBER TOP FAN LITE
3/4 OVAL 2
(@]
7}
i el —— 3/ i a
GLASS BITE o
HOT MELT BUTYL
1" OVERALL GLASS THK. 5
EXTERIOR z
1/8" TEMPERED GLASS £
L | DECORATIVE INSERT S |3
T i g |8
L, | AR SPACE =3
= DATE: 4/26/22 |z
INTERIOR 1/8" TEMPERED GLASS scale:  N.T.S. 3
HNIRIMAIL 3
SWIGGLE SPACER DWG. BY: RW @
#8 X 1-3/8" PH SMS TN E
(12 TOTAL OVAL LITE) GLAZING DETAIL DRAVING N0 o
(12 TOTAL CAMBER TOP) .m PRODUCTS LITE FRAME Fl-41471.1 |8
(6 TOTAL FAN LITE) ! 18
sHeET 13 oF 14 |g




1.25"

0.75"

¥

! 2.15"

WOOD JAMB
FINGER JOINT PINE

|t ] _5" pnr——

05" —= =
' K ™)

3.4

"

S ].4" —D—I

MUV

2.5

WOOD MULLION
CLEAR POPLAR

5.62"

BILL OF MATERIALS

ITEM # | DESCRIPTION MATERIAL
A 1X BUCK (G >=0.42) WOOD
B 2X BUCK (G >=0.42) WOOD
C 1/4" MAX. SHIM SPACE -
D 1/4" X 2-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F 1/4" X 3-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
G 3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL
M 3/16" X 2-1/4" PFH ITW CONCRETE SCREW STEEL
P 1/4" X 2-1/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
1 WOOD JAMB WOOD
3 WOOD MULLION WOOD
7 WEATHERSIRIP FOAM
8 SWEEP VINYL
9 4" X 4" HINGE STEEL
11 #9 X 3/4"' PFH WOOD SCREW STEEL
12 LATCH STRIKE PLATE STEEL
13 DEADBOLT STRIKE PLATE STEEL
14 INSWING THRESHOLD ALUM/COMP
15 OUTSWING THRESHOLD ALUM/COMP
17 INSWING SIDELITE ADAPTER PVC
18 #8 X 3" SD TRIM SCREW STEEL
20 #9 X 1/2' PFH WOOD SCREW STEEL
21 #12 X 2-1/2" PFH WOOD SCREW STEEL
23 #8 X 3/4" PFH WOOD SCREW STEEL
25 #8 X 2-1/2" PFH WOOD SCREW STEEL
27 #7 X 1-5/8" DRYWALL SCREW STEEL
40 DOOR PANEL -
50 SIDELITE PANEL -

14 INSWING THRESHOLD

Columbia

17 INSWING SIDELITE SPACER

2.44" N

| 2
‘ o
L e .

i C Y
T

15 OUTSWING THRESHOLD
Columbia
CONCRETE ANCHOR NOTES:

Columbia

edge distance to mortar joints.

. Concrete anchor locations at the comers may be adjusted fo mainfain the min.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.
. Concrete anchor table:

May 25, 2022

P.O. Box 230, Valrico, FL 33595
813.659.9197

“
BUILDING CONSULTANTS, INC.
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE Registry No. 9813

ALL SEASONS, INC
FIBERGLASS DOOR
BILL OF MATERIALS
& COMPONENTS

o]
m
=
[
g
e o
O
8 e}
2l |E
[+ o
>..
m
L
<
(=]
o
pd

TTW BUILDEX

DATE: 4/26/22

wood screws fo prevent the splitting of wood.

TAPCON® [ 174" ScALE  N.T.S.
uLiRACONR | V4 cHK. B:  LFS
WOOD SCREW INSTALLATION NOTES: DRAWING NO.:
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of FlL—41471.1

SHEET 14 ofF 14

ZA\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41471 ELEMENT SERIES\C - Drawings\FL-41471 (2020)\FL-41471.1.dwg

REVISIONS

© 2022 R.W. BUILDING DONSULTANTS INC.





